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221740 }
program  project;
uses ctrt,dos,printer;
const
taxid = '3-1011723-62";
shopname = ‘ram minimart';
max_1 = 50;

max_2 = 50;

rosponsctype = (noresponsc,arrow,.key,return);
movement = (none,left,ﬁght,up,down);
menurec = record
numchoices integer;
menuwidth integer;
choices:array{1..9] of char;
descriptions:array[1..9] of string{80];
title . siring;
prompt : siring;
end;
Tecmaster = record
id : string[5];
des : string[10];
onhand  : integer;
cost_price : real;
sell_price : real;
day_import : string{7];

end;
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indexrec = record

id : string[5];

relative_address  : integer;
end;

summaryrec = record
{ objective - calculate profit/perday }
id string[5];
name atring{10];
totalsell Teal;
totalgoods  inisger;
profitperonce eal;
{ coll:;cl. order of good seil/perday }
end;
fiemaster = file of recmasier;
fileindex = file of indexrec;
filotran = filo of recmasier;
filssarnma = file of summaryrec;
group_1l = array[l.max_1} of recmasier;
group_2 = array[l..max_1] of indexrec;
group_3 = array[l..max_2] of summaryrec;
const
{ creake menu}
mainmenu  :menurec = (
numchoices:9;
menuwidth47;
choices’123456780";
descriptions :('c. restefile’,
's nterdate’,
't cadallfile’,
's earch’,
's ellgood’,
'u pdatedata’,
‘s ummary’,
‘e dit data,
‘o xit);
tile ' supormarket program ’

prompt * entsr choice nses arrow key and press <enier>'); '
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no” = #7;
back_space = #8;
cartiage_roturn = #13;
special = #0;
right_arrow = #77;
left_arrow = #75;
down_arrow = #80;
up_atrow = #72;
fl = 'a\master.dat’;
f2 = 'aMransaction.dat’;
f3 a 'aNndex.dat;

4 = 'a\summary.dat

var
fp_m : filemaster;
fp_i : fileindex;
fp_t : filstran;
fp_s : filssumma;

response  char;

begin
sound(1000); delay(100);
sound(700);  delay(100);
sound(500);  delay(100);
nosound;
and;

[ — . ticsound

sound(1300); delay(100);
sound(1500); delay(100);
sound(450); delay( 100);

S

procedure ticsound,;

begin
sound(4550); delay( 100);
gound(1650); delay(100);
nosound;

end;

sound(850); delay(500);
sound(1000); delay(100);

{
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procedure sstvideo(attributebyte);
T ovar
blinking,
bold byte;
begin
blinking :=(attribute and 4) * 4;
if (attribute and 1) = 1 then
begin
bold:=(attribute and 2)*4;
textcolor(blinking + bold); textbackground(1);
end *
clse
begin
bold:=(attribute and 2) * § div 2;
textcolon(5 + blinking + bold); textbackground(0);
end;
end;
{ }
procedure  dosdatetime;

var yr,mo, day, dayofwk :word;
hr,min, sec,hundredths :word;
procedure  writeday(index word);
begin
fextbackground(6); textcolor(10+128);
case index of
O:write('sunday '),
1:write(‘'monday );
2:wrik{"tuesday ');
3:write('wednesday :);
4:write('thursday ');
S:write(‘friday );
6:write('saturday ');
olse
write("day unknow ');
end;

end;
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begin
gotdate{yr,mo,day dayofwk); gottime(hr,min sec,hundredths);
highvideo; texicolor(4+128);
setvideo(6); writeday({dayofwk);
textcolor(15+128); writeln(mo,'-' day,’-',y1);
toxtcolor( 14+128); write('titne M
xtcolor(10+128); write(hr,””,min,’”' sec,’”’ hundredths);
readlin;textbackground(0);

end;

{ }

procedure putstring(outstring :string;line col, attrib-intsger);

begin

{set video atiribute and cursor location}
setvideo(attrib); gotoxy{(colline);
highvideo; write(outstring );writeln;
{reset nornal video}
end;
{ }
procodure  putprompi(outstring :string;line colinteger);

begin
gotoxy(col line); clreol;
putstring(outstring Yine col,3);
end;
procedure puicenierstring(outstring string; lino,aitribintoger);
begin

putsiring(outsiring line 40 - length{outstring) div 2,attrib);

ond; )
{- : }
procedure getresponse(var response  rosponsctype; var direction :movement;
var keyrosponse char);
var
inchar:xchar;
begin

response =noresponse; direction:=none; koyresponse:=' ';
ropoat
inchar:=readkoy;

if inchar = gpecial then
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. begin

TOSpONSS =/TOW,

{arrow are actually two characier responses}

inchar:=readkey;
if inchar = lofi_armrow then
clse
if inchar = right_arrow then
clso
if inchar = down_arrow then
else
if inchar = np_arrow then
else
" begin
TESpONSe =NOTeSpPONSc;
end
end
{check for camiage returns}
else
if inchar = carriage_return then

{check for key entered sot to uppercase}

clso
bogin
response =key;
end;
until response <> noresponse;
end;

direction =loft

direction =right

direction:=down

direction:=up

write(bell);

fesponse =return

keyresponse =upcase(inchar);

{ . Lt L L]

procednre  displayframe(numlines,numcols:integer);

var
loficol, topline, ool lineintoger;
begin
jlimitﬂnﬁmsimto%x?li}
if numlines > 20 then numlincs=30;
if numlines > 73 then numcols:w78;

")

highvideosetvideo(6); topline:=12 - numlines div 2 -3;

if topline <1 then  topline:=1;

leficol:=40 - numcols div 2 -3;

258



o
AANUIIM 2

if leficol < 1 then  leficol=l;
{display the top line}
gotoxy(leficol topline); write( ‘#218);
for colm 1 to numcols + 2 da wrik(#196);  wrie(#191, ');
(display the second line}
gotoxy(leficol topline+1), write(' '#179, ")
for col= 1 t0 numcols do wrie(#220); wrie(' '#179, %,
for line= toMine + 2 to  topline + numlines + 2 do
begin
gotoxy(lefiool line); write(' *#179, '); gotoxy(leficol+numcols+3 line); writeln(' '#179, *);
end;
{display the second-last line}
gotoxy(lefwol topline+numlines+3); write(' '#179, ");
for col:= 1 to numecls do  write{#223); writs(' "#179, ');
{dislay the last line}
gotoxy(leficol,toplino+numlines+4); wrike{’ '#192);
for col == 1 to numcols+2 do wrie(#196);  wrie(#127, °); sotvideo(6);

end;

{t.l.tt‘t".‘.tt‘..8‘.‘lttl.’“tttttt“.tltll.'.““".j

procedure  displaymenu(menu:monurec);
var
loficol, topline, spacing,iinteger;
bogin
with menu do
begin
if numchoioes > 7 then  spacing:= 1  clsé  spacing:=2;
topline=10 + (numchoices*spacing) div 2 - (2-epacing)* numchoices mod 2;
leficol:ad] - menuwidth div 2;
{display the frame and title}
displayframe(numchoices*spacing + 3,menuwidth); pucontorstring(title topline+1,2);
[display the choice and descriptions}
for i= 1 t numchoices do
begin
putstring(choices[i] topline +i*spacing+2. loficol+2,2);
putstring(’-'+ descriptions{i], topline + i*spacing +2Jeficol+4.,0);
| ond;

{display the prompt}
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putprompt(prompt.topline + numchoices*spacing + 7, lefteol -2);
writeln; writeln;
end;

end;

{!!*t#** __________________ !*******}

procedure getmenuresponse{menu:menurec; var userchoice char),
var
currentchoice, spacing, firstline, desccol, i integer;
respresponsetype;
dir :movement; {arrow key response}
found:boolean;
begin
with menu do
begin
{ determine the current(highlighted) choice}
currentchoice :=numchoices;
for i:= 1 to numchoices do
if userchoice = choices[i] then currentchoice:=i;
if numchoices > 7 then spaciﬁg =1 else spacing:=2;
firstline:=12 - (numchoicos*spacing) div 2- (2-spacing)*numchoices mod 2;
desccol:=47 - menuwidth div 2;
Tepeat
{highligth current choice}
putxqing(dnsmipﬁons[cmmnlchoice], firstline + currenichoice*spacing,desccol,6);
gotoxy(desccol - 8 + length(prompt), firstline + numchoices*spacing + 5);
getrosponse(resp,dir,userchoice); putstring(descriptions[currentchoice],
firstline + cunenﬁhoioe*spacing,duecol,O);
case resp of
arrow if (dir = down) and (currentchoice = numchoices) then currentchoice:=1
else  if dir = down then currenichoice =currenichoice+1
else  if {dir = up) and (currentchoice = i) then currenichoice =numchoices
else  if dir = up then currenichoice:=currenichoice -1;

key: begin
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currenichoico =i;
end;

if found then resp:=return else write(bell);

end;
{if camriage return , use current choice}
return userchoice :=choices[currentchoice];
end;
until resp = return;
{re -highlight chosen choice}
puistring(descriptions[currenichoice] firstline + cmnt:ﬁoino*spacing.demol.ﬁ); writeln;
end;

end;

{'t'lllliit"‘.l t.llt"ttltl}

procedure creaefile;
var chxchar;
ibyo;
(* 1 ottt )
procedure creaem;
begin
aasign(fp_m.fl); rewrike(fp_m); close(fp_m};
end;
(*2 HHHH )
procedure creatstran;
begin
msign(fp_t.£2); rewrite(fp_t);  close(fp_t);
end;
(*3 ettt ¥)
procedure creawin;
bogin
msign(fp_if3), rewriko(fp_i),  close{fp..i);
end;
(* 4+t )
procedure crealesum;
R '
assign(fp_s,f4); rewrii(fp_s);  close(fp_s);

end;
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begin clrecr;
Tepoat
oxtbackground(0); clrscr;

for i =1 to7 do writln;

gotoxy(15 3);wrim(che(201)); ,
for i= 1 10 40 do write(chr(205));
write(chr(187));gotoxy(15 4); write(chr(186));lexicolor(1);
highvideo;write(enter choioe ':25); setvideo(6);gotoxy(56,4);
writeln(chr(186));setvideo(6); gotoxy(15,5);wrike(chr(186));
goloxy(56,5);wrile(chr(186)}; sotvidea(6);g0t0xy(15,6);
write(chr(186));texicolor(14); highvideo;gotoxy(20,6);
wrik(l’! creat mester filo '); sotvideo(6);gotoxy(56,6);wrikein(chr(186));
. setvideo(6);gotoxy(15,7);write(chr(186)); textcolot(14);highvideo;gotoxy(20,7);
write('2', transaction file'); sotvideo(6);gotoxy(56,7);
writkeln(chr(186));setvideo(6); gotoxy(13,8);write(chr(186));
exicolor(14);highvideo; gotoxy(20,8); write('3",' indox file");
sotvideo(6);50t0xy(56,8); writeln(chr(186)); setvidao(6);gotoxy(15,9);
write(chr(186));1oxkolor(14); highvideo;gotoxy(20,9);
write('4", summary fib’); setvideo(6);gotoxy(56,9); writein(chr(186));

sotvideo(6);gotoxy(15,10);writs(chr(186)); textcolor(14);highvidoo;gotoxy(20,10);
wii(S,  all ) setvidoo(6)igotoxy(56,10); write(chr(186)):setvideo(6);

gotoxy(15,10);wrile(chr(186)); setvideo(6);gotoxy(15,11); write(chr(186));xicclon(14);

highvideo;gotoxy(20,11); wrike(6, exit); sotvidoo(6):gotoxy(56,11);writeln(chr(186));
setvideo(6);gotoxy(15,12); wrik(chr(186));kexkolor(red);highvideo;
gotoxy(25,12);writs('chooss ;> ),  setvideo{6);gotoxy(56,12);writeln(chr(186));
setvideo(5);gotoxy(15,12);write(chr(200));

for im 1 to 40 do write(chr(205));

setvideo(6); writeln(chr(188));highvideo; ch:sreadkey;

case ch of
'1"createm; ‘2’ createtran;
'3"createin; '4' createsum;
'$' begin
createm; creaistran;
creafoin; Crealesum;
end;
elss
begin
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if (ch < '1") and (eh <> '2) and (ch <> '3) and (ch <> '4") and
(ch <> ') and (ch <> '6")
then begin
gotoxy(15,7),  writeIn(invalid please try again ');
end;
end;
end;
uatil (ch = '6") or( ¢ch = '5');
textbackground(0);clescr;
end;
{ }
procedure  enterdata;

const

max = 50;
typo
st = string{5]; grouparr = array[l..max] of st;

var AgTOUPAIT; inputrecmaster;
keyinputindexrec; tomp st;
est:booloan; num.ijinteoger;
begin

for num:= 1 to max do a[num]:='0’;
xicolor(lighcyan)highvideo;  clmor;num:=0;
assign(fp_m,fl);oset(fp_m); wrik(enter id [end = 0]?);  readin(inputid);
while inputid <>'0’ do
begin

inc{num); a[num] =input.id;

with input do

begin

write(enter  description ');  readin(des);

writo(’ onhand :); readin(onhand);

write(’ cost price O'); readln(cost_price);

wrike( sell price ); readin(sell_price);

write(’ day import ); readin(day_import); wriss(fp_m,input);
end;

write(Centor  id [end = O]."); readin(input id);
end;

close(fp_m);
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{ sort index }
i=1; st =true;
while (i < num) and wst do
begin
tost:=falss;
for j= 1 to num - i do
begin
if (afj] > a[j+1]) then
bogin
wmp=aljl; afj]=a{j+1]; alj+l1]=iomp; isstatrue;
end;
ond;  ino(i);
end;
{ write data key id into index file }
assign(fp_if3); resot(fp_i); j:=0;
for i=1 to num do
begin
keyinput.id:=afi]; keyinput.relative_addross:j;
write(fp_ikeyinput); J=il;
end;  close(fp_i); texicolor(whike);
end;
procedure  roadallfile;
var  ibyt; indexdatazindexrec;
begin
clracr; gotoxy(32,3); oxicolor(lightgreen+128);
highvideo;writeln(shopname); gotoxy(29.4);
exicolor(yellow+128); writsn(taxid);gotoxy(10,6);
forim= 1 to 20 do write('+*+"; writeln;goloxy(25,8);
textolor(red+128);write(chr(1));wxwolor(magenta);
highvideo;write(’ read ali index fils *); textoolor(rod+128); writeln(chr(2));
aasign(fp_i.f3)renet(fp_i);
while not eof(fp_i) do
begin
read(fp_i indexdata);
with indexdata do
begin
exicolor(whis);highvideo; writln(’ id = 22.,id);
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writeln(’ index = :'as.:ahﬁvq__-émeu); readin;
end; {end with } '
end; {end while }
close(fp_i);
ond;
I s S  and ]
procedure  search;
var choice bye;

procedure  searchwithid;

var
code:str emp recmaster;
found:boolean; Lh,i,md,nom insger; arrgroup_1;
begin
nam:=0; msign(fp_mf1);  roseltfp_m);

while not eof(fp_m) do

begin
num=nom+1; read({fp_m,arrinam]);
end; closs(fp_m);

{sort array of master file for search }
{ use bubble sort }
11, found:=tre;
while (1 <oum) and found do
begin found:=false;
for hml to num -1 do
begin
if arr{h).id > wi{h+1].id then

begin
tomp=arr{h]; arfh]=ar{h+1}; amfh+1]=temp; found:strue;
end;
ond; {end for h}  1m=l+l;
end;
{ binary seacch }

clmcrexolor(lighicyan)highvideo; writ(enter id that search [0 =end] ); readin(code);
while ocode <> '0' do

bogin

l:-l;h:-num-;l; im] found:=irue;

while found and (i<=num) do
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bogin md:=(i+h) div 2;

if codo = arr{md].id then found:=false
_elss

begin if code < ax{md}.id then h=md else l=md; end; imi+l;
end;

if not found then

begin

with armd] do

begin writeln(' id : "id);  writeln(’' description * des);
writeln(' onhand ',onhand);writein(’ cost price ! cost_prioe:6:2);
writeln(’ sell price *soll_price:6:2); writoln(’ day import *,day_import);
end;
end

olso

wrileln(’ sorry | can”t fide'); wrike(enter id that search [0 = end] ); readin(code);
end; {end while}

end;

{*

'!"l"*ttlﬁ‘ltltlt!tl!l‘!‘!l}
procedoro searchwithrelativeaddress;

var datarecmaster; nintoger;
begin

clrser; aasign(fp_m.f1); reset(fp_m); texicolor(lightcyan); highvideo;
wrile(enier number of address fend = 0]:); readin(n);
while n <> 0 do

bogin  seek(fp_m,n-1);  read(fp_m,data);
with data do
begin -wrikeln(' id : id);  writeln(’ description ,des);

writeln(’ onhand ?,onhand); writeln(’ cost price ! cost_price:5:2);

writeln(’ sell price \soll_price:6:2); writeln( day import :'.day_import);
end;

write(enter number of address [end = 0]); readin(n);
end; close(fp_m);
end;

begin  repeat

clrser; textcolor(tighicyan);highvideo; gotoxy(25,6):
writeln(’'1 search file with id key");

gotoxy(25,7); writeln(*2 relative address ');
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gotoxy(25 8); writsin('3 exit); gotoxy(28,9); write('choice = ’); readln(choice);
case choice of
1 :searchwithid; 2 searchwithrelativeaddress;
else
if (choice <> 1) and (choice <> 2) and (choice <> 3) then
gotoxy(25,10); writeln(invalid please try again’),
end;
until choice = 3;
ond;
{.“ttl't'*‘“'tttttl#t#tttttttt‘*‘**!'t“t#t't*ttttttlttttt}
procedure sellgood;
var
choicebyte;
{ read data form master file to transaction file }
{ step 1 read data to array
".-" 2 sort array
".." 3 wrike data to transaction file}
procedure selll;
var tranarr:group_L; inintoger; Bmprecmaster;
) begin
ni=0; assign(fp_m,f1); reset(fp_m);
while not eof(fp_m) do
begin n=n+l; read(fp_m, tranarr{n]); end;
close(fp_m);
{ write data to iransaction file }
assign(fp_f2); rosof(fp_t);
fori= 1 to n do
begin  tomp:atranand{i];  wrie(fp_temp); end;
close(fp_L);
end; {end procedure selll}
{HHHHH R
{ besi.n.lnll good }
{ swop 1
* road data form transaction file to array
for use to binary search
step 2 sell good }

procedure sell2;
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const liat = 20;
type
recordbill = record
deacrip string(10);
pricel real;
volumn ' infoger;
end;
billarray = array[1..list] of recordbill;

yar

trana:group_1; ij.vollLh.mdk.maxlinteger, foundhaveboolean; codesiring(5]; .

select byte; change tax recieve tot, pay profits:real,  presentbill:billarray;
listnumber,numgood integer; emprecmaster; summl:group_3; totl xeal;
begin
tot:=0.0; totl :=0.0;
{ begin sellgood )
maxl=0;  assign(fp_tf2); resoi(fp_t);
while not eof(fp_t) do
begin max]=maxl+l; read(fp_ttrana[max1]); end;
close(fp_t);
{ sort array of transaction file}
{ use bubble sort }
im]; found =true;
while (i<max1) and found do
begin found:wfalss;
for j=1 to max1-i do
bogin
if trana(jlid > trana[j+1].id then
begin
emp=tranalj]; trana[j]:=trana[j+1]; tranafj+1]=temp; found:=true;
end;
end; {end for j} inc(i);
end; {end while loop}
clrecr; #exicolor(lighicyan);highvideo; listnumber:=0; j=0; k:=0;
wﬁﬁh;wﬁbln; wrisCenter id of good [ 0 = end] : *); readin(code);
while code < '0’ do
begin  have=true;
while have do
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begin
for im] to max1 do
if codo = tranafi]id then have=falso;
if have then
begin write(’ no { have id please try sgain :°); readin(code); end;
end;
lsmember:alisthumber+]; L=1; h=max1+1; im]: found =true;
while found and (i<=max1) do
begin md:=(l+h) div 2;
if code = trana[md].id then found :=false
olse
;aesin if code < trana[md].id then h=md else l=md: end;
imid];
end; { end while loop found and i<=n }
if not found then
begin
writs(enier volamn );
{ nomber of good that want buy}
readln(vol);
[check inventary good}
{check good if less than 30 then make buy add good}
if trana[md].onhand <= 30 then

begin

wriee('inventory check Il good not ");wriseln(’ insufficient you buy add good °);

writsln(’ buy good add emergency ');
end;
if vol > trana[md].onhand then
. begin
writeln{’ good don"t enough for sell );
writeln(volomn of good inventory chock have =’ tranaimd).onhand);
writo('ploaso onter insist again vol :); readin(numgood);vol:mnumgood;
ond;
trana{md}.onhand:=trana{md].onhand - vol; assign(Ep_1£2); rewriso(fp_t);
forv i= 1 to maxl do ‘
begin  write(fp_ttranafi]);  end;
close(fp_t); J=jtl;
with pressatillfj] do
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{ use for bill to customer when id = 0}
bogin
descrip:=tranamd].des; price]l =trana[md).sell_price; volumn:mvol;
ond; { end with}

pay:=vol*trana[md].sell_price; profits:=(trana[md}.sell_price - trana[md].cost_price)*vol; 7

fot=tot + pay; writeln('profits = 'profits:2:2); kmk+1;:
with summl{k] do

begin

id =trana{md).id;name =trana[md).des;totalsell :mtot;totalgoods =val,profitperonce :=profits;

end;
if 5= 1 then
begin
texscolor(yellow+128);highvideo; for im1 to 80 do  write('*');  wrileln;
wiiteln(shopname:38); wrikln(iax id "25,taxid); writeln;
writeln(' no":2,'des':10,'price":15,'vol':20);
fori=1 to 80 do  wrike(’-");wrikeln; texicolor(lighicyan);
end; write(j:2);
with tranafmd] do
begin  writeln(des:10,sell_prico:15:2,vol:20); writout; end;
end;{ end if not found}
write(enter id of good [ O = end] : '); readin(code); v
if code = "0’ then
begin
assign(fp_s.f4); resoi{fp_s);  seek(fp_s.filesize(fp_s));
for im= 1 tok do wri(fp_s,summlfi]);
close(fp_s); texicolor(red);highvidso; wrikeln(total *tot:2:2," bath');
tax:=tot * 0.07; { fot = tax + total} totl=totl + tot + tax;
wrisin('total + vat 7 % **** ' {ot]1:2:2, bath’), writke(’ recieve :); readln(recieve);
wrilin; change:=recieve - totl; writeln(’ change **** change:5:2, bath’);
writeln; readln; textcolor(lightcyan);highvideo; writeln(' 1 want bill for customer °);
writeln(' 2 don”t want bill'); write(erter choice '); readln(select);
if select = 1 then
begin
for iz= 1 to 77 do write(st,*"); writsln(Ist); writeln(lstshopname:38);
writeln(lst,’ tax id ':25,taxid); writeln(lst);writeln(lst,’ no':2,'des':10,'price”:15,'vol':20);
for il to 77 do write(let,-");writelnqlst);  jo=0;
fori =1 to listnumber do
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begin
J=pi; write(Ist,j:2);
with presentbillfi] do writeln(lst,descrip:10,price1:15:2 volumn:20);
end;
writeln(lst);writeln(iotal ****** 161:2:2 ! bath");writeln(lst,’ total + vat 7 % ***** i51]1:2:2 bath");
write(lst,’ recieve *); write(lstaocieve:2:2);writeln(lst); .
wribln(lst,; change ****** change:5:2,' bath”); writeln(lst);
writeln(lst,’ ++++++ thank you +++++++'25);
end{ end if select = 1}
else
begin
exicolor(yellow+128);highvideo;
forim 1 0 80 do write('*’); writeln; writoin(shopname:38);
writeln(’ tax id ':25,taxid); writcln; writeln(' no':2,'des’:10,’price":15,'vol':20);
for i=1 to 80 do write(-');writeln; j=0; textcolor(lightcyan);highvideo;
fori:=1 to listnumber do
begin
J=j+l; write(j:2);
with presentbill[i] do  writeln(descrip:10,price]:15:2,volumn:20);

ond;
wtiteln; writeln¢  total ***** t0:2:2," bath ), writeln('  total + vat 7 % ***** (5]:2:2.' bath");
write(  reciove '); write(reciove:2:2, bath’);writeln;writeln('  change ****** change:5:2,' bath');
writeln; writeln(' +++++ thank you +4+++ ':25);
end;
exicolor(white);highvideo; readin;
oend;{end if code ='0"}
end;{end while loop}
end; { end procedure sell2}
begin
repeat clrscr;
exicolor(lightcyan); highvideo;gotoxy(20,3), writtln('l write data to transaction filo *);
gotoxy(20,4);writeIn("2 sell good ');gotoxy(20,5); writeln(3 exit ");gotoxy(24,6); write(Center );
readln(choice);
caso choice of
1:selll; o 2:meli2;
clso
begin
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if (choice <> 1) and (choice <> 2) and (choics <> 3)
thon wrimin(invalid pleaso try again *);
ond;
end;
until choice = 3;

end;

tran:group_1; num,iineger;
bogin
clrscr;
gotoxy(35 8:mxwolor(rod);  highvideo;write('u’);textoolor(greon-+128);
highvideo;wriein(pdate dats’); gotoxy(25,10);.xkcolor(blue); ;
highvideo;write('u);fexolor(lightoyan+128); writein(pdate master file with mnu:ﬁnn‘ file );
_ gotoxy(25,11);sexicolor(yellow); write("a);xicolor(lightred+128);
writeln(pdate masier file per day '); gotoxy(35,13);ioxtcolor(whike+128);
writeln(’ please wait % gotoxy(25,15);mxxolor(lightmagenta+128);
for i:= 1 to 32 do write(chr(14));
{open transaction file
input daia to array ismpory }
nom=0;  essign(fp_tf2);  rosci(fp_t);
while not eof(fp_1) do
begin nom=nom-+1; read(fp_t.tran[num]); end;
close(fp_t);
{writc data form transaction filo to masier filo }
sssign(fp_mf1);  rewriw(fp.m);
for i:=]1 to num do
~ begin  write(fp_m,tran[i]);  end;
close(fp_m);
ond;

{ e ser}

procedure summary;
var

choice:byte; ibyw;

{® 9}
prooedure  profitl;
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var

a;group_3; nam.jinteger; sumxreal; totsell] xeal; totvolinteger;
begin

asgign(fp_s f4); reset(fp_s); nam:=0;

while not eof(fp_s) do

begin num:=npum+l; read(fp_s.a[num]); ond:
close(fp_s); sum:=0.0; totsell1:=0.0; totvol=0;
fori:= 1 to num do
begin totsell] :=totselll + a[i].totalssll;

totvol:=totvol + afi].totalgoods; sum:=sum + a[i].profitperonce;

end;
clrser;
textcolor(blue+1 28.);hig hvideo; gotoxy(32,4);writeln(shopname);
textcolor(yellow +128);highvideo; gotoxy(29,5); writeln(taxid);
textcolor(lighteyan):highvideo; gotoxy(13,7)fori= 110 5 do
begin  write(chr(3)); write(chr(12)); end;
xwolor(lightgreen);highvideo;

fori=11t0 5 do

begin  write(chr(14));  write(chr(2)); endit exicolor(lightmagenta); highvideo;
fori= 1 o 5do

begin  write(chr(3)); write(chr(12)); end; exicolor(lighigray);highvideo;
fori=1to 5 do

begin  wriw(chr(14)); write(chr(2)); end; wxicolor(lightmagenta);highvideo;
fori=11t Sdo |

begin write(chr(3)); write(che(11)); ond; textoolor(lightred);highvideo;
gotoxy(25,10);writeln("total goods is that sell/day = ’.totsell1:2:2, bath");
oxicolor(lightgreen);highvideo;

£otoxy(25,12);writeln(total goods volumn is that sell//day = ' totvol);
oxicolor(lighteyan);highvideo; gotoxy(25,14);

writeln('profit per day = "sum:2:2, bath'); textcolor(lightcyan);highvideo;
gotoxy(13,18)foriz= 1 to 5 do

begin write(chr(3)); writs(chr(12)); end;texicolor(lightgreen);highvideo;
fori=1to 5 do

begin wrik(chr(14)); wrike(chr(2)); end; extcolor(lightmagenta);highvideo;
foriz=1tw 5 do

bogin write(chr(3)); write(chr(12)); ond; texiolor(lightgray);highvideo;
fori= 1S do
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begin writs(chi(14));write(chr(2)); end; exicolor(lightmagenta);highvideo;
fori=1to 5do
begin write(chr(3));wrile(chr(11)); end; readin;

end;
[ttt'ttl‘t.t"“lt#t.t.itt‘8.tl#!t!tlt!*'*"!*."'!!l!}
procedure report;

const max = 50;

typo

arr = array(l..max] of summaryrec;

var

jd.ntotvolineger; sum,totreal; a =T,

begin

‘clmr. totvol:=0; tot=0.0; sum:=0.0; j=0; assign(fp_s,f4); resot(fp_s),
while not eof(fp_s) do
begin inc(j); read(fp_s.aljl); end;
close(fp_s); texicolor(lightgreen+128);highvideo; gotoxy(35.4);wrikln(shopname);

texicolor(blue+128); highvideo; gotoxy(32,5);writeln(taxid); exicolor(lighicyan);highvideo;

gotoxy(2,7); !
fori= 110 8 do
begin write(chr(4)); write(chr(5)); end; wexiolor(lightgreen):highvideo;
fori= 1 to 8 do
begin writ(chr(13)); write(chr(3)); end; textoolor(lightmagenta);highvideo;
forim1to 8do
bogin wrike(chs(4)); writ(chr(14)); end; toxicolar(lightgray);highvideo;
for i 110 8 do
begin writ(chr(14)); writs(chr(2))end; toxialor(lightmagenta);ighvideo;
forim 10 8do
begin write(chr(3)); write(chr(11)); end; wxwolor(lighwyan):highvideo;
fori=1to 8 do
bogin writs(chr(4)); wrils(chr(5)); end; lexcolor(lightgreen);highvideo;
forim I to 8 do
begin write(chr(13));write(chr(3)); end; iexicolor(lightmagenta);highvideo;
forim 1t0 [0do
begin srite(chr(4)); write(chr(14)); end; iexicolor(lightgray):highvideo;
 forim 1109 do
begin write(chr(14));write(chr(2)); end;textolor(lightmagonta);highvidoo;
forim 1t 8do
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bogin wiito(chr(3)); write(chr(11)); end; texivolor(lightgreen);highvideo;
fori=1to 8 do
begin write(chr(13));wrile(chr(3)); ond; ioxicolor(lightmagenta);highvideo;
forim1lto 8do
bogin write(chr(4)); write(chr(14)); end;exicolor(lightcyan)highvideo;
fori=1to 6 do
begin write(chr(4)); wrike(chr(5)); ond; xtcolar(lightgreen):highvideo;
for i:= 1 o 10 do ,
begin writ(chs(13));write(chr(3)); end; texicolor(lightmagenta);highvideo;
forim 1 to 10 do
begin write(chr(4)); write(chr(14)); end; wxtcolor(lightred);highvideo;
gotoxy(1,8);write('no’); gotoxy(12,8);write('id’); gotoxy(22,8);write('description’);
gotoxy(34,8);write('volumn'); gotoxy(44,8);write(‘profit’); gotoxy(57 8);write(total’);
n=9; exicolox(lighigray +128):highvideo; gotoxy(1.9);
fori = 1to80do  writke(chr(3)); exwolor(lighicyan);highvideo;
for i= | to j do
begin
with ai] do
begin  ino(n);gotoxy(1.n);wrik(j);gotoxy(12,n);write(id);
gotoxy(22,n);writ(name),  gotoxy(34,.n);writ(totalsell:2:2);
goloxy(44,n);wrim(totlgoods:2); gotoxy(57,n);write(profitperonce:2:2);
tol=tot + totalscll;totvol:=totvol + totalgoods; sum:=sum + profitperonce;
end;
end;
texicolor(lightmagents);highvideo;writeln;writeln; writeln(’ total volumn = 'totvol);
writeln( " " profit = 'sum:2:2); writeln{’ " " summary = 'tot:2:2);
wxwolot(red+128):highvideo;
forim1lto 5do
begin write(chr(3)); wrils(cht(12)); end; texwolorlightgreen);highvideo;
forim1lto 5 do
begin write(chr(14));writo(chr(2)); end; toxicolor(lightgreen);highvideo;
forim 1 to 5 do ‘
begin write(chr(13)); wﬂl;(chl(3)): end; eexicolor(lightmagents);highvideo;
fori=1to §do
bogin write(chr(4)); writ(chr(14)); end; exicolor(lightmagenta);highvideo;
forim Lto §do '
bogin write(chr(3)); write(chr(12)); end;texwalor(tightgray);highvideo;

IT 257 . 275



MANUINT 2

276

end;

forim 1to 5 do

begin wrike(chr(14)); write(chr(2)); end; xicolor(lightmagenta);highvideo;
forim= 1105 do

begin write(chr(3)); writs(chr(11)); end;lexicolor(lightmagenta);highvideo;
fori=11to 5Sdo

begin write(chr(3)); write(chr(12)); end; texicolor(lightgray);highvideo;
forie1to 5 do

begin write(chr(14)); write(chr(2)); end; texicolor(lightmagents);highvideo;
forim 1105 do

begin write(chr(3));write(chr(11)); end; xtwolor(lightgreen);highvideo;
fori=1to 5 do

begin write(chr(14)); write(chr(2)); end; readln;

{tQtlttt‘ttt*t#tlt%lt*’Ftt*"*‘t***F'*tt"!**t*#!!‘!tl!‘t}

procedure checkstock;

var data : recmasier;  ininteger;

begin
clrscr;  n=11; textcclor(blue+128);highvideo; gotoxy(32,4);writeln(shopname);
tsxicolor(yellow +128);highvideo;  gotoxy(29,5);writeln(taxid);
bxﬁ:olor(ﬁghk:ym);hishvideo; 50toxf(13,7);

fori=11to 5 do
begin writke(chr(3)); write(chr(12)); end; textoolor(lightgreen);highvideo;
fori= 1105 do
begin write(chr(14)); write(chr(2)); end; #exicolor(lightmagenta);highvideo;
forimlto 5do
begin write(chr(3)); write(chr(12)); end; texicolor(lightgray);highvideo;
forim=1to 5 do
begin wriie(chr(14));, writs(chr(2)); end; texicolor(lightmagenta);highvideo;
forim1to 5do
begin wrib(chi'(?’_)): wrim(chr(11)); end; texteolor{lightmagenta);highvideo;
assign(fp_t,f2); reset(fp_t); gotoxy(1,9);writn(id’); gotoxy(7,9);write('description’);

gotoxy(23,9);writeConhand’); gotoxy(34,9);write('costprice’); gotoxy(50,9);write(’sell price’);

gotoxy(64,9);wrikeln('day import); sxicolor(lightgreen+128);highvideo, gotoxy(1,10);
fori=1to 20do wrik(chr(14)); toxicolor{lightblue+128);highvideo;

fori= 1to 20 do wrike(chr(5)); textcolor(lightred+128);highvidco;

forim 1 to 20 do wrike(chr(3)); texkolor(yellow+128);highvideo;

forim 1to0 20 do write(chr(4)); hxbolot(]ighk:yan);hishvidec:;
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while not eof(fp_¢) do
begin
read(fp_t.data);  inc(n);
with data do
begin
gotoxy(1,n);write(id); gotoxy(7 n);write(des);gotoxy(23,n);writs(onhand);
gotoxy(34,n);write(cost_price:2:2);  gotoxy(50,n);write(sell_price:2:2);
3otoxy(64,n);wrih:(dny_import);
end;
end;
writeln; writeln; exicolor(tightred+128); highvideo;
forim 1 to0 20 do write(chr(2)); exkcolor(lightgreen+128); highvideo;
for i= 1 to 20 do write(chr(3)); texicolor(lighicyan+128); highvideo;
fori= 1 to 20 do wrib(ch.r(ﬁ)); mxiolor(lightmagenta+128); highvideo;
forii=1to 20 do write(chr(12)); close(fp_t);readin;.
end;
begin
repeat
clscr;  gotoxy(37,5); texicolor(yellow+128); highvideo;
writeln('summary”); gotoxy(35,6); texicalor(red);
writeln(shopname); gotoxy(32,7); writeln(taxid); »
gotoxy(18,9); texicolor(green);
forim= 11045 do writs(chr(5)); gotoxy(25,11); wxicolor(lighicyan); highvideo;
writeln('l fide summary per day *); gotoxy(25,12);
writeln('2 report ');gotoxy(25,13);  writeln("3 check stock'); gotoxy(25,14);
writeln('4 exit *);gotoxy(27,15);  texicolor(white);write(’ enter );
readln(choice);  case choice of
1:profitl; 2xeport;  3wheckstock:  else
begin
if (choice <> 1) and (choice <> 2) and (choie <> 3) and (choie <> 4)
then begin  gotoxy(29,17);writeln(’ invalid ploasc enier again’);
end;
end;
end;
until (choice = 4);
end;
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procedure  delefoinsert;
var choicebyls;
{ +HH R delole HHHRRRREEEEH ]
procedare delete;
var
a:group_1; codo:string[S];indl :group_2; datal indoxrec;num i jinteger; test:boolean;
begin
g.hwr; write(enter id to be delete = '); roadin(code); num:=0;
sssign(fp_if3);  reset(fp_i);
while not eof(fp_i) do
bogin nummnum+l; road(fp_idatal);  indl{num}wdatal, ond;
close(fp_i);
im=]; mBat=true;
whils (i <= num) and test do
if code = ind1[i].id then test:=false; clse imitl;
ffnottstthen  forjmitonum-1do indl[f)=indl[j+1];
assign(fp_if3); rewrin(fp_i);
for it= 1 to nam -1 do write(fp_iind1fi]);
close(fp_i);
num=0; assign(fp_m.f1); reset(fp_m);
while not eof(fp_m) do
begin numm=num+1; read(fp_m.a[num])end;
close(fp_m); im=l; test:miroe;
while (i<=num) and test do
if codo ma[i].id thon test=false clso im=i+l;
if not test then
for jmito num-1do afjl=afj+l];
suign(fp_m,f1); rewrite(fp_m); forim= 1 1o num -1 do wrik(fp_m.afi]}
close(fp_.m);
end;
{#+Hbdrbt bt insert S )
{ add data to file }
procodurs insert;
var

data:recmanter; datal indexrec; num jiinweger; f:group _2;

test-boolsan; empindexrec;
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begin
clrscr; assign(fp_mf1), reset(fp.m);  seek(fp_m filesize(fp_m));
with data do
begin
write(enter id '); readin(id);  wrike( description ); readin(des);
write(' onhand :); readin(onhand); wrile( cost price );
readln(cosi_prico); write(' sell price :); readin(sell_price);
wrike(' day import ); readin(day_import),
end; -
write(fp_m,data); close(fp_m); num:=0;
sssign(fp_if3), resotfp_i); sook(fp_ifilesize(fp_i));
dntal idmdateid; datal.relative_addross:=filepos(fp_i); write(fp_i,datal);
close(fp_i); num:=0; sssign(fp_if3), rosot(fp_i);
while not cof(fp_i) do
begin num:=num+l; read(fp_iflnum]); end;
close(fp_i); i=l; ost:=trne;
while (i < num) and. test do
begin  tost:afalse;
fmj:-!tonum-ido
begin
if (fTjl.id > fj+11.id) then
begin datal:=f[j); fljl=fj+1]; fj+1]m=datal; test=tros; end;
ond;  ine(i);
end; j=1;
assign(fp_if3); rewrite(fp_i);
for = 1 to num do
bogin  wrike(fp_ifli}); ond;
close(fp_i);
ond;
[ SrsResassassnes ot din H+HHHHHHHRHRR]
proceduro  editdata;
var agroup_l; num.inieger; iestboolean; dataxecmasisr; codestring[5];
bogin
clscr; num=0; assign(fp_m.fl1); reset(fp_m);
, While not eof(fp_m) do
begin num:=num+l; resd(fp_m,a[nom]); end;
closa(fp_m);
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write('enter code that edit data fend = *] *);,  readin(code);
whils code <> "*' do
begin iml; test=irne;
while (i<=num) and test do
if code = a[i].id then test:=false olse i=mi+l;
if not test then
bogin dataid:=code;
with data do
begin
wrik(entor description '); readin(des);
write(’ onhand "): readin{onhand);
write(' cost price );  readin(coat_price);
write(' sell price );  readin(sell_price);
wrib('onbr. day import  ); readln(day_import);
end;{end with } a[i]:=data; .
end
olse
writsln('ploase try again’);
assign(fp_m,f1); rewrits(fp_m);
for i= 1 to num do write(fp_m,afi]);
close(fp_m);
write('entor codo that edit data [end = *] :); readln(codo);
ond;
end;

{tlttl‘l.‘t“t"lt.'t’ll*'t"!lt.““'

*}
begin
Topeat
clmscr;exicolor(bluc);highvideo;gotox y(25 4);
writein( 1  delots focord data that you want’);
gotoxy(25,5); writeln(' 2  insert data’'); gotoxy(25,6);writcln( 3  odit data ');
gotoxy(25,7);wrikeln( 4 exit *); gotoxy(28,9);write( chaice -> ");readln(choice);
case choice of
1:delews; 2insert;  3editdata;
else
if (choice <> 1) and (choice <> 2) and (choice <> 3} and (choice <> 4)
then

writeln(’ invalid please enter again’);
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end;
until (choice = 4);
end;

{5555555555555555boonchok  55555555555555555555555555551

begin
clrser; textbackground(black);
ropeat S
dosdatstime;startsound;ticsound; displaymenu(mainmenu);displayframe( 1040);

getmenuregponse(mainmenu,response);
{ menu choice}

case response Of

'1" createfils; ‘2" enterdata; '3 readallfile; ‘4’ :search; 'S sellgood;
'6':updatedata; "7 summary; '8":dsleteinsert; 'e"exit;

ond;

writeln;lextbackground(0)clrscr;

until response = 'o;
readln

end.
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